Townhouse in Rabat



Rabat, North



€690,000

Total Rooms: 5

Bathrooms: 1

Floor Area (m²): **120**

Reference No: 240221042-210

Bedrooms: 2

Townhouse - For Sale - Rabat

New on the market in Rabat, Malta is this 2-bedroom townhouse, boasting authentic character including a traditional Maltese balcony, imposing staircase, separate kitchen and combined living/dining area. While in need of renovation, it offers excellent potential with a spacious garden and exciting possibilities for indoor expansion giving you the opportunity to create a unique home in a highly sought-after area.

Features

- ✓ Kitchen/Dinette
- Electricity Utility
- Balcony
- Garden

- Entrance Hall
- Air Space
- Back Yard

Rooms

- ✓ Double Bedroom : 4.2 x 5.2 m (21.84 m2)
- Single Bedroom : 2.82 x 4.1 m (11.56 m2)
- ✓ Bathroom : 1.3 x 2.8 m (3.64 m2)
- Landing: 2.1 x 2.6 m (5.46 m2)
- ✓ Hallway : 1.6 x 4.1 m (6.56 m2)
- ✓ Kitchen: 5.2 x 2.5 m (13 m2)
- ✓ Living: 8.9 x 3.5 m (31.15 m2)
- Landing: 2.1 x 5.5 m (11.55 m2)
- Open Space : 5.7 x 1 m (5.7 m2)

Gallery

















Jessica Borg RE/MAX Excellence - Piazzetta

M: 99429718

E: jessicab@remax.com.mt

T: 21341341

RE/MAX Excellence - Piazzetta 114B,Tower Road, Sliema, Malta